[THSEE

RAR IS Bt E K

BEENWK | BALSYLREES
i BV A R & R AR5 5 BB = YRR + SRR A =
b T 78,000 m? = OH K BIKALIERE B 100 m’/8
2R =E 1,300,000 m?® FKARLSE 4,500 m?3
HEMERKAD 128513 A mEspiE | 42| BOD 30 mg/|
FTEIREAO 128,513 A JKE SS 70 mg/|
(1) WHEEFXR
_ X % 4R 58 6A 7R 8A 9F |(10RA|11A|12A| 1A 2H BA | & §
aJ R 28 62| 260 275 160f 111 71 28 10 15 0 5( 1,025
* TER-HHKRZSH 18 38 91 34 30 39 39 66 30 53 39 76 553
18 BRI T%E 91 165 96 156 115 103 151 93| 143 113 80| 120| 1,426
V3 IR EY) 2 2 3 3 3 2 3 3 2 2 1 3 28
= N E 139 266| 450 468] 308| 255 264| 189] 185| 183 120 204| 3,032
= L ;‘E - - - - - - - - - - - - -
A = (1) 139 266| 4501 468] 308 255| 264 189| 185 183 120| 204| 3,032
- F (m3) 118 232] 491 511 323| 254 235 155 140] 142 87 152 2,840
(1) 21 23 23 24 22 21 21 22 22 13 12 22 246
BtE
(m%) 13 14 14 15 14 13 13 14 14 8 8 14 154
WIEHITE |[(md) 131 246 505| 526| 337 267 248] 169| 154| 150 95| 166| 2,994
HERRRE (Fm3)| 964.7 | 964.4 | 963.9 | 963.4 | 963.1 | 962.8 | 962.5 | 962.4 | 962.2 | 962.1 | 962.0 | 961.8 961.8
=HR oy 134 159| 159 158 158| 154| 151 153 140| 140| 147 126 148
NIBK= & K 152 170 165 176 176 181 175 158 147 165 1701 137 181
(m®/R8) & 99| 146| 153] 133] 133] 139] 133] 149| 127 122 133] 113 99
(2) MEROIKR
A48 | 5A|6RA|7H|8HA|9RA|10R11A(128 1A| 2RA| 3R
ERDREIKR B 5@ 5[® 2[® 5@ 5@ 5@ 5@ 5@ 5@ 5@ 5@ &
ERZEORERRE B 5@ 40 5@ 40 5® 40 5® 4B 5® 4B 5® 5
BLoRR B 5@ 5D 5D 5@ 5@ 5@ 2@ 5@ 5@ 5@ 5B &
CHORE. FHE (D ED D @ D @ 5@ @ 5@ @ 5@ @ &
BHKONBEZ B 4@ 5@ 50 5@ 5@ 1@ 5® 1@ 5® 1@ 5(® &
BE. BRZOHRE ® 4@ 40 5@ 1@ 4® 1@ 5® 1® 1® 1® 5®- =
BT HEDRR ®- E5(@®- @ 5@ @ 5@ (@ (@ 5@ @ (@ @ T
BHABELEZHORR (D BB 5B 5@ o[@- 5@ 5@ 5@ &®- 5B 5@ =@ &




